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QUESTION 1

What is NOT a factor in considering when you are asked to ensure an effective transition from manual to automated
tests?

A. Complexity to automate the manual test cases
B. Correctness of test data and test cases

C. The look and feel of the SUT

D. The controllability of the SUT

Correct Answer: C

QUESTION 2
Which of the following statements does NOT describe good practice for maintaining the TAS?

A. The TAS must run in the development environment because development and programming knowledge are required
for its maintainability

B. The TAS must be under configuration management, along with the test suite, the testware artefacts and the test
environment in which it runs

C. The TAS must separate the test scripts from the environment in which it runs and from the associated harnesses and
artefacts

D. The TAS must consist of components that can be easily replaced without affecting the overall behavior of the TAS
itself

Correct Answer: A

QUESTION 3

You have been asked to develop test automation for a legacy system that is going to go through a series of
infrastructure migrations. The scripts will be used to verify basic functionality during these infrastructure changes Your
Test Analysts

have some programming skills and need a solution that is simple and fast.

Maintainability of the scripts is not a consideration because no changes to the software are anticipated.

Which of the following is the BEST scripting approach in this situation?

A. Structured scripting

B. Capture-replay scripting

C. Model-Based scripting
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D. Linear scripting

Correct Answer: B

QUESTION 4

New features have been added for the current release of a SUT.

Which action would NOT be appropriate for the TAE to perform when evaluating the impact on the TAS?

A. Gather feedback from the Business Analysts to determine if the current TAS will meet the needs of the new features.
B. Review existing keywords to see if they need to be modified.

C. Run existing automated tests against the updated SUT to verify and record any changes to their correct operation.
D. Evaluate compatibility with existing test tools and, where necessary, identify alternative solutions.

Correct Answer: A

QUESTION 5

Consider a TAS that uses a keyword-driven framework. The SUT is a web application and there is a large set of
keywords available for writing the automated tests that relate to highly specific user actions linked directly to the GUI of
the SUT. The automated test written with the keywords are statically analyzed by a custom tool which highlight\\'s
repeated instances of identical sequence of keywords. The waiting mechanism implemented by the TAS for a webpage
load is based on a synchronous sampling within a given timeout. The TAS allows checking a webpage load every
seconds until a timeout value

A. Changing the scripting approach to data-driven scripting

B. Implementing keywords with a higher level of granularity

C. Changing the wait mechanism to explicit hard-coded waits

D. Establishing an error recovery process for TAS and SUT

Correct Answer: C
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